2018 / 2017 (oAl pladl — 4 5ula iy ARl Al o glal) g L ol guad) — dalad) Ay gAY Al ) alal) B3Lgds (flaial 73 gad

Answer the following questions:

1. Choose to answer (a) or (b):
(a) How are ripple marks formed?
(b) How is the angular unconformity formed?

Ay Ay s <l

() (1) o LY pas -1
Sl 7l 585 S ()
38 5l aae o ()5S CAS ()
NERB\

2. Choose to answer (a) or (b):

(@) What would happen when light falls on
diamond?

(b) What would happen when graphite is
exposed to pressure?

(@) 8 () os LY i 2

¢ sl b giu ie sy e ()
¢ ol e e

Uaad e dag Bl (@)

¢ Laall ol jal) aea

3. Choose to answer (a) or (b):

(a) Explain a way of adaptation of worms and
fish that live at sea bed.

(b) Explain a way of adaptation of the leaves of
desert plants.

(@) 9 () os &Y pas -3

Aland s Aoy = 530 (1)
ol gl Gl

S5 Al g - ) (C)
Ay gl aall Ll 3 f
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4. Choose the correct answer: s daaaal)l Y A 4
: _ L) faaal) e Lgie s ) dduall
The property of a mineral sample which = e :f Al
IS represente_d by thls_ figureis ......... Sl il (]
a ) Cracking of Mica

CAdahll 4 3,4l (o
e i iy (s

ol (8 @5l

b ) Foliation of Shale

C Cleavage of Calcite
d Foliation of Gneiss

5. Give reason for: . s:’i?\ Wl e -5
Pumice is lighter than Rhyolite although they Cad sl 1 (e L5 S8 e sl
have similar structure. QOIS P I JPSg

6. Write down _the scientific term el lbiaall o S) -6
. s 409 5_Lall
expressed by the following =

ALial ST yiad Aaly ) ol g "

statement: "L LU e 5l Jeall

Windy deposits that are considered as the
most prevalent examples of wind as an agent
of deposition.
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7. The figure below illustrates some types of _oar (P Ul JSO) g T
motion of tectonic plates. Answer the ¢ Axigisil) 7)) ASpa £ 5l

questions that follow: 240 AN Al Ge el

First: What is the kind of the plate gl A all g ke Nl
motion that caused structures (1) to form? (1) @S/ e oS5 Al
Second: Mention the number that - le JIall a8l e g 2L
represents: A ¢ panall -]
1-Transition vertical faults , el i) -2

S g (g iy Yle (S AN

2-Deep oceanic trenches g e 4. eenll 4
e Ay giill A5 sl
Third: Mention one example that B ' (4) =
resulting from the tectonic motion at

numbers (4)




2018 / 2017 (oAl pladl — 4 5ula iy ARl Al o glal) g L ol guad) — dalad) Ay gAY Al ) alal) B3Lgds (flaial 73 gad

8. Compare one of the results of using
organic fertilizers and one of the results
of using chemical fertilizers.

3aanY) aladiul AT aal o ¢ 8
3aanY aladinl U1 asl 54y slasl

R

-8

One of the results of using

_organic fertilizers_
M“‘y'a.“ ddauy) e‘.\ﬁu\ UL aal

One of the results of using

_ chemical fertilizers
Ay glaasl) 5aam! @\Jﬁu\ UL aal

ooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

— e dS i, -9
@J}iés c«}.'al\;ﬁ
b (3l 8 ClisY)

e Cbdrall )y ﬁ:\
Al Ll alual

9. Explain the effect of each of the following-:
First: Light on the distribution of auxins in
plant stem.

Second: Releasing nutrients from marine
living organisms.
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10. Choose to answer (a) or (b):
(a) Explain: Muscovite differs from Biotite.
(b) Explain: Dolerite rock forms in two
stages.

(<) 9 (1) ce Ay a3 -10
Cad Sl Caliny 3 i ()
.t gl e
Syl sall ¢S5 ;b ()
ol e e

11. What happen if:
A man dived till he reached the maximum
depth at which algae that have one free end
exist?

s die daag il -11
el A a5 padd a e
Bl Il e aa 55 gac

¢ ol gcayha

12 Choose the correct answer:

The structure that is located between basalt
rock and limestone rock that lies directly
aboVvVe ItiS A veveeennnnnnnnns

; Normal fault

b Reverse fault

< ) Nonconformity

d Joint

: dagaual) eyl jds -12

b Al G da) sl qus Al
A Byl dBgh 5 A jaag

u*u&u CSM -

Lo Bl S aae (A
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13. Write the scientific term expressed by the 8 lall _alall mlaadl) i8I 213

following statement : + A1)
The level that Everest mountain altitude g ) 4] iy (531 (5 sl
refers to. a8 Jaa 48
14. What is meant by: Humus? ¢ JLalL 3 paiall La -14
15. Give reason for the following: e d sl ég": W Jis -15
Halite crystal is characterized by the Jilaill o 58 Sk el )

greatest number of crystalline
symmetric systems.
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16. Choose to answer (a) or (b): 1 (@) 3 (J) os Ay A -16
(a) Compare between: Oxbow deposits B Gl gy om0 ()
and Wadi El-Natron deposits. B Gl 5 9 A 8
(b)Compare between: Alluvial cone and - skl ol
Delta cone. b i om U8 (@)
LGl b g pa g Jud)

..........................................................................................

..........................................................................................
..........................................................................................
..........................................................................................
..........................................................................................

------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------

17. Give one importance of the i On Js Bl arl G381 17
following: Juall )3 ¥
First: Mountain roots. SR (il # 6l il

Second: The ceramic streak plate
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18 s (e AUl Jedl) ey -18
The figure below illustrates the components of ligSa g (AUl dsul\
the desert ecosystem. . g9l aal) (Al aladl)

R —— pF—
Light energy Heat energy
Lpnil ‘- iyl ya il

—
-2 o Jal a8 Y g el i)
Write down the name and the number:- Ddaa i clulS Yl
First: Living organisms considered as a - gl Ll
source of water for jerboas Gy Lbe DS ¢ Ll
Second: Living organisms whose absence JEA 5 L) 5 Cial) oS) g3
causes accumulation of dead bodies and Al o))
remains and the unbalance in the
environment.
19. Choose to answer (a) or (b): (@) o (J) s Ay i -19
(a) Give reasons for: One day. the Red T g e L g 1 dle ()
Sea would become an ocean. e jeall el
(b) Give reasons for: Accumulation of e Gl oS s Jle (@)
phosphate layers during the upper raall JOA i gl
cretaceous period in the North of Jeds A (5 slall (g ppililall
Africa. Ly il




2018 / 2017 (oAl pladl — 4 5ula iy ARl Al o glal) g L ol guad) — dalad) Ay gAY Al ) alal) B3Lgds (flaial 73 gad

20. Choose to answer (a) or (b): () S (1) ¢e Ay s 220
(a) What are the results of: The presence 1 25 A ) il L ()
of a rock whose magnetic angle is 20 A8l il Ayl ) Aa asas
degree in a conifer forest area? Aa )220 (oubaliaall
(b) What are the results of: variation in 4 sa clile dahia 8
ecological conditions along the 1S A ) il L (@)
geological timeline? e Al gkl s
¢ oaslsanll el i
21. Choose to answer (a) or (b): () 9 (J) ¢ Ay pids 21
(a) Compare between: Dykes and Sills sl s sl s o @ ()
(b) Compare between: Strike — slip Fault s el s o o8 (@)
and Thrust fault sl Gl 5 A AS Al
22. Mention the name of the rock that -1 (8 Jeadall JAuall 3 222
metamorphosed from: Al ) aall Yl
First: Sand stone dihll Aa Ll

Second: Slate
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23. Write the scientific term expressed by the
following statement: “Living organisms acts
to aerate the soil and provide it with
nitrogen”

I alal) plbaaal) IS 23
s " . ;\,.\Slﬂ\ 5 laad) uk-
" g Gyl

24 Choose to answer (a) or (b):
Through the figure below, answer:

(@) o () o= Ay 53 24
scaa dlala L..S:m JSE (e

- -
......

Far'e
- A
- e .

(a) First: What do the structures (B) &
(C) represent?
Second: Determine a location for
Disconformity and another for
Nonconformity.

(b) First: What is the stage that the river
(A) is getting through?
Second: Mention two phenomena
that characterize the river in this
stage.

SlaS il Jiey 13l ¥ ()
()
p2e s 20a 1l
Al el G g
Oebia

i O C)
£ (1) el les o
e il 83 2Ll

el as il al skl

L ala i o3

10
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25. Show how the following desert organisms | 4l asall il (it g -25

are adapted to water scarcity: slall 30 aa AU
First: Insects Ll pdall oY)
Second: The deer OV el sl

26. Explain in brief: the meaning of water table, 3 paial ; laldl 7 ol 226
use drawing within your explanation. o ¢ a Y el G puiag
- gl za sl

27. What are the results of exposing mud (A5 A il il La gl 227
rocks to the following® Laa J< duiidal) | gdual) (2 s
Eirst : heat and pressure s
Second: pressure only 3ol allds jo g larall (Yl
PATRISA (N ﬂ:\

11
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28. Choose to answer (a) or (b): 1 () 9 (1) ¢s Ay Sa) 28
(a) Define : Ecology LAl Hle s e ()
(b) Define : Tropism el id e (@)
29. Mention one importance of the Cliliall 3aa) g Azar] <3 29
agricultural wastes LAss)
30. Write the scientific term expressed by the Jlal) (alal) mllaaal) IS 230

following statement:
Seismic waves transfer from the Earth’s crust B_pdall (ye Jais A3l 31 ) Gils ga

and getting through Earth’s inner core. oY Gl DA e g Az )Y
. 5 S el

31. Give reason of the following: The roaming O oS Y dhlldle -31
crustaceans can’t feed on brown algae at the e dailed) iy Hdall (gt
daytime. ke Al Qlladal)

12
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32 Choose the correct answer: s daaal) oY) pas 32
T e e Jilial) Jiuall die s
The figure represents a rock sample of ...... s >

a ) Plutonic igneous rock 5y . Ui ;
gy . P> S e

b ) Clastic sedimentary rock - S :
S () e @

Biochemical sedimentary rock S .
CeS e () Saa (o
d ) Metamorphic rock by heat and 3l il J g 2 ;

pressure

33. Explain the meaning of hydration process. | . ssill dslasy 3gualall 7 il -33

34. Choose to answer (a) or (b): (<) 9 (1) s Ay 53 34
(a) Mention two of the elements that increase S aliall (e il S3 ()
and others that decrease as 50% of magma (o JE Al SIS 5 ol
Is crystallizing during the formation of % 50 skt ladie pgaall
igneous rocks. AUl eaall S5 die dda
(b) Mention two results of volcanic outcomes | oS!l il 58 (e Gl S ()
and the physical state of each Lagie JST 400 5l Al

13
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35. Compare between: Trigonal System and
Triclinic System according to :
( the number of axes — the relationship

between its length )

skl sl : G o B 235
s G G dpal) SN (AD

7l odal A8Me — ) glaall 22c
(P By

Point of

comparison )
4 e Aais

number of axes
oskaal) aae

................................

................................

................................

relationship between its
length
Ll shal 4aNe

................................

................................

................................

................................

36 Through the figure below, answer:

:t._\;i lalal Lf:m J&l e =36

First: What do (1 & 2) refer to?
Second: What is the result of the
presence of this structure near the sea

beach?

Ol ) ada (53 La ¥
(251)

138 352 5 anle o i s L oLl

£ ¢ ali (e o lly JS

37. Choose to answer (a) or (b):

(a) Mention the name of a mineral that has
the same chemical composition of the

hardest mineral.

(b) Mention the name of a sedimentary
mineral that has a concoidal fracture
and it might be of light or dark color.

(@) o (1) os Al a1 37

A Galaall aaf anl K31 ()
Sl S il i )

A0 calaall Y

05 B 5 e S

O GBale sl il

14
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38. Compare between: Plutonic Earthquakes, and

Tectonic Earthquakes

cApgasall JOV N s gm o @ 238
LA si bl Y

Point of
comparison

................................

................................

................................

................................

................................

................................

................................

................................

................................

................................

................................

................................

39. Give reasons for:

The mechanical weathering sometimes occurs

Lsaill Gaai s AWl Jle -39

at the same time with the chemical weathering.

Al 4 53l

40 Choose the correct answer:

On planting wheat in February, in April it
would undergo ......

5 ) Flowering only

b ) Flowering then fruiting

c ) Vegetative growing only

d ) Flowering and fruiting

: dagaal) Ala) 43 40

La ¢ gl b gl A palll A die

9 Jl b A Al Gy
chE ) [

S|P PLIT Y R
chd (g pad gl (a
L:.AJW\}J\AJ\ K]

15
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41. Write the scientific term expressed 5 lall alal) mlbuaal) SV 41
by the following statement: ) 8 G
A mixture of organic decayed remains A gume Jge LG SRS

and mineral materials graduated in size (Al Leg Lt da o AR

and differ in the degree of their

R . . S sl e s
similarity depending on the impact the
atmospheric conditions.
42 Choose the correct answer: s dasaaal) oY) A5 42

- o . . R & L\ . \ .\ o -
The river in the opposite figure is o= JSall el ) el

characterized by ......

a Steep gradient

b ) Increasing sedimentation ey (G
c ) Increasing erosion cailiaal (a

d ) Meanders formation bl s (9

43. Choose to answer (a) or (b): (@) 9 (1) s Ay 54 43
(a) Mention two ways for solving the O o gilad oyl SN
problem of mineral depletion. - Odaall il il ()
(b) Mention two ways for solving the el aall (@)
problem of overhunting.

16
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44. Through the figure below, answer: |l dlalaf 30 il e 44

Sedimentary

rocks
> .
Ay Gud )

o it N

-/‘; - .
»J- Structure (B) d

Vo P e =S
:’/:/’
p -~
‘- SN 2
YGNSD Structure (A) ./

-~y

N == 477 <] Lsia Igneous
bt T o] G
Y

rocks
Structure (C)
First: Identify the structures (A) and (B). (<) 5 () oS e oy ¥ )
Second: mention the reason of the S Al 0585 e S LG
formation of the structures (A) (<2)s(h)
and (B). (X Y) Sl e o jan G
Third: : ldentify the structure (X — )

...................................................................................................

...................................................................................................

...................................................................................................

...................................................................................................

...................................................................................................

...................................................................................................

...................................................................................................

...................................................................................................

...................................................................................................

...................................................................................................
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45. Through the figure below, answer: |l dlalaf 30 JSil e 45

Quartz Amphibole
J gl

GL
a~ 0.15

Rock (A)
First: Identify the rock (A) then classify & () Dl e o Nl
it according to its texture. A Eua (e 4dia
Second: Identify the rock (B) then S (@) sall e o il
classify its type. Ac §i g

...................................................................................................

...................................................................................................

END OF EXAMINATION MODEL
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